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QUESTION 1

An administrator needs to upgrade AOS for an air gapped cluster by using Prism Element. Which two actions allow the
administrator to perform the upgrade? Choose Two

A. Extract the AOS binaries to the CVM

B. Manually Upload Binaries to a local http server

C. Manually Upload AOS binaries and metadata

D. Use the LCM dark site Option Providing AOS Binaries

Correct Answer: CD

QUESTION 2

Refer to the exhibit.

CPU Intel(R) Xeon(R) CPU E5-2670 0 @ 2.60GHz

iz Speed Base speed 260 GHz
0%  260GHz ot 2
Procease Thieads endle ., .L. Fr , .., & Yes
86 747 26023 Licche s

An administrator needs to upgrade a VM to 10 virtual processors. Which action should the administrator take to
complete this task?

A. Power-off the VM and add one vCPU
B. Update the VM adding two vCPUs
C. Update the VM adding two cores

D. Power-off the VM and add one core
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Correct Answer: C

QUESTION 3

Refer to the exhibit: Based on the exhibit what can be definitively determined about Host DEMO-AHV-2\\'

A. it has performed more on-disk lookups than the other nodes.
B. It\\'s cache is undersized compared to the other nodes.

C. The system memory is undersized.

D. Itis hosting a higher quantity of VMs than the other nodes.

Correct Answer: A

QUESTION 4

An Administrator Wants a VM to Communicate with two Separate VLANs. What steps should the administrator
complete?

A. Add a single NIC to the VM and Configure it for both VLANs
B. Add two NICs to the VM and Configure one for each VLAN
C. Turn on IPAM for autoconfiguration of VLANs

D. Configure a security Policy to assign VLANs to the VM

Correct Answer: B

QUESTION 5

Which option allows administrators to specify groups of VMs and assign them to a destination for Disaster Recovery
using Leap?

A. Security Policies
B. Protection Policies

C. Recovery Plans
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D. Availability Zones

Correct Answer: D

QUESTION 6

Refer to the exhibit.

Data Resiliency Status ? x
FAULT DOMAIN TYPE: HOST
POIMNE F = iLERAI [ 3
Statie 1
Configuration
ZooKeaper 4] Desired faull tolerance for

Zookeeper is 1 bul we can

tolerate only O node fallure(s)

Stargate Q Based on unhealthy node list
Health (5,) the cluster can tolerate a

maximum of O node faillure(s)
Oplog 1

Metadata Q Metadata ring partitions with
nodes: 1921681.33,
192168.1.31, 192168 1.32 are
not fault tolerant

Extent Groups 1

Erasure Code 1

An administrator notices that the Data Resiliency Statue of some components has been reduced to 0.
making it impossible to support a

node failure in the cluster.

What type of failure is most likely the cause of this issue?

A. Block

B. Disk
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C.CVM
D. Nods

Correct Answer: C

QUESTION 7

What should an administrator do after a Protection Domain is migrated?
A. Register Virtual Machines

B. Restore Virtual Machines

C. Mount datastores on Hosts

D. Power on Virtual Machines

Correct Answer: D

QUESTION 8

A New Project is Being rolled out to an AHV Cluter being monitored by prism Central , The Application team indicated
that the application managed by the project is very memory intensive . The administrator

wants to be notified about any memory constraints should they occour. How would an administrator most effectively
achieve this task?

A. Create a new metric chart for the cluster and analyse hypervisor Memory Usage
B. Search for the VM , then in the details page , go to metrics an select CPU usage.
C. Create a Report to tracking the memory Usage

D. Create a new alert policy for the memory Usage and set to critical after 80%.

Correct Answer: D

QUESTION 9

Which Component Allows you to pair sites for disaster Recovery Policy Creation Using Nutanix Leap?
A. Availability Zones

B. Protection Domains

C. Recovery Plans

D. Protection Policies

Correct Answer: A
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QUESTION 10

An organization runs several core business applications on a Nutanix cluster. System stability and support are critical for
these applications, which has an annual maintenance window.

How can the administrator assure that these requirements are met?
A. Purchase Mission Critical support.

B. Purchase Ultimate licensing.

C. Adhere to the STS release cycle.

D. Adhere to the LTS release cycle.

Correct Answer: B

QUESTION 11

A mission critical application with four VMs have been deployed inside of a six-node Nutanix cluster. An alert is
generated that a node in the cluster has failed and is no longer online. After the alert, two of the VMs reboot and come
back online on another node.

Which feature, when configured, would have prevented the two VMs from rebooting?

A. Host Anti-Affinity

B. VM High Availability

C. Host Affinity

D. Protection Domain

Correct Answer: C

QUESTION 12

An administrator needs to expand a Nutanix cluster that is tagging the network traffic at the CVM and AHV level.
However, the administrator doesn\\'t remember the configured VLAN ID.

Which command can the administrator run to find the correct VLAN ID from the CVM?
A. ifconfig

B. manage-ovs

C. acli

D. ovs-vscl

Correct Answer: D
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QUESTION 13

Refer to the exhibit.

Create VM 2 )
Digks + Add N
CO-ROM  idel EMPTY=true; BUS=-ide s K
o]k Ll 0 SIZE=100G18;: COMTAINER=C F X
Boot Configuration
D Legacy BIOS
Default Boot Crder (CD-ROM, Disk, Metwork) :} e

UEFI @
The reference exhibit above is from a newly-created VM. When the administrator powers on the VM. GuestOS
installation is not happening.
What is causing this issue?
A. Network boot is happening
B. The GuestOS installer is corrupted
C. The SCSI disk is corrupted
D. GuestOS installer is not loaded in the CD-ROM

Correct Answer: D
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QUESTION 14

How should an administrator view the storage consumed by the recycle bin?
A. On the storage Overview dashboard

B. In the Cluster Details Page of the cluster setting

C. On the storage Summary Widget on the Prism Dashboard

D. In the Diagram or Table view on the Storage dashboard

Correct Answer: D

QUESTION 15

An administrator wants to deploy a virtual desktop solution on a Nutanix cluster and wants to use the existing production
network segment. Due to security concerns, DHCP traffic is blocked on the upstream network switch.

How should the administrator proceed?

A. Enable IPAM and configure an IP Address Pool
B. Enable Nutanix Flow

C. Enable DHCP on the TOR Switches

D. Install and configure third-party DHCP Software

Correct Answer: A
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